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With reference to the History of Mcdiuw‘ll
India. the Iraqis, K/hurasanis and Multanis

denote
(1) Sufi Saints
(2) Officers in the Revenue Department

(3) Traders

(4) Bhakti Saints

05 0don 20038 AdTBOIT, 202000 1T03,
QOODTE, AMTIBACTT DB BVERITIIBY
NoR ARWRSAIR).

(1) R Jo3D

(2) 3Bowood weRalohd IRTON

(3) =mOND

(4) 238 03D

Consider the following battles in the
history of India:

“A. First battle of Panipat

B. Battle of Chanderi

C. Battle of Khanwa

D. Battle of Chausa

What is the correct chronological order
of the following battles, starting from the

earliest?

(1) A-B-C-D (2) D-C-B-A
(3) A-C-B-D (4) B-D-A-C
20030 A3TIRROI 83 PN odmgﬁeﬁdgi
DOMED!

A. ReBe[e SRSt IV

B. edoricd 333
C. =3 333
D. 23 333

SRBAVT F9BoP B3 3PN aimgﬁ@ [Xelevinin
BB ?

(1) A-B-C-D (2) D-C-B-A
3) A-C-B-D (4) B-D-A-C

[n Mughal Empire, the term ‘sayurghal’
n

denotes:

(1) Land granted 1O support SChDIa:rST
men engaged in spiritual pursuits,
indigents, widows and respectable
men without any employment.

(2) Tax Concessions granted to

European traders.

(3) Tribute paid by subjugated Rajput
rulers.

(4) Tax collected from Deccan states.

R0 erPdodd oot (sayurghal)

BB DI, RRVRIB?

(1) RS, 52,3, 3 TES0HS JRBAE
RTIRTY, WRBRTI, AFS0NTY )
0P Te VTWRENAYE MOT TS
DRV, 230209Ren RoBAD) IR

23eC).

(2) 0320RTRES 038 mﬁmaﬁ‘@ﬁ 301

DTIRIR), Ve,

(3) B3 3x3e3 Bedre TOBSIT
85,3093,

@) Boeon moeyReon Ronoan 307,

P.T.O.
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Match the flollowing schemes and

objectives :

Scheme Primary Objective

A. DISHA 1. Access 10 justice
Scheme in under-served

arcas

B. Project 1. Integrated agri.

VISTAAR advisory &

planning
Financial security
for girl child

C. Sukanya 111.
Samriddhi
Yojana

D. PM Fasal 1v. Insurance for
Bima Yojana crop losses

Select the correct code :

(1) A-i, B-ii, C-iii, D-iv

(2) A-iii, B-iv, C-i, D-ii

(3) A-ii, B-i, C-iv, D-iii

(4) A-iv, B-iii, C-i1, D-1

83 39N oleexdnd DI evgde3nd)y

HRODY!

odeexd 0 BT evgded

A. DISHA 1. R0 RO NRD
oded BB FEIRVN F0d

M ATREVR Y

B. VISTAAR ii. 337 & 30z 3D
ileles Inle ! 03 RCTINATPYED

C. =oda ﬂs&:é% 111, 36D FPT BEOFORS
odeems 2303

D. PM 3gzef iv. 239 358 D
DR 03eceS

2Dodpd euds erd

(1) A-i, B-ii, C-iii, D-iv
(2) A-iii, B-iv, C-i, D-ii
(3) A-ii, B-i, C-iv, D-iii
(4)  A-iv, B-iii, C-ii, D-i

L-52-2 B

5

Match the following groupings with their
primary objectives or recent focus areas :
Grouping Focus Area

A. QUAD 1.
technologies.
Submarine and

Al capabilities.
Infrastructure and
connectivity.
Counterterrorism and

B. AUKUS ii.

C. IMEC 1ii.

D. 5CO 1v.

Critical and emerging <
=

Eurasian cooperation. -,

Choose the correct match :

(1) A-i, B-ii, C-iii, D-iv

(2) A-i, B-1, C-iv, D-iii

(3) A-iii, B-1v, C-i, D-ii

(4) A-i, B-iii, C-1i, D-iv

BPNIINTG, (Re®D) oPYNe B3 W3

mdzﬁasﬂ Engeaiﬁﬁa ZIAAD) @@f&%ﬁ’ ﬁea%fﬁahﬁ =

BBeBRID, (§e3) Beod:

ronsd/ 3m§,ﬁeé geg

RRD {3&:% e3023)

A. QUAD 1. @ odd D)
VIV QA To S
a’aga% ~Tat=h

B. AUKUS ii. =e»po3med DR
Al (%éé m%aiaé)
mﬁ)tﬁﬂﬁ"?@&

C. IMEC 111. R FRZoDHENRD D)
RORBE

D. SCO 1V. QUR7RINRS e?.)t:bg 3D

SNDERRDD DR
odndaodntd 383
A00Ind V33 erd:

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-i, C-iv, D-iii
(3) A-iii, B-iv, C-i, D-ii
(4) A-i, B-iii, C-ii, D-iv

P.T.O.
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=

-
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s the I ol lﬂwing places in news Wi{h
Matc

jstan ! their correct gEﬂgrﬂphlcal teatures
dia-Afghd : :

6 With. reference ;gzlln :vhicll of the [ocations Feature/Locatiop
relations PUStj i sqlll dia's diplﬂn"lﬂlic Place sal i. Arunachal Pl‘ﬂdeshh
following best xXp ‘"_n < oime? A. Pang Myanmar bordey
shift toward the Taliban reguiitv: Pass .. Tributary of

4 e political Anjl Khad ' :
(1) To legitimize the Talibans P B Bridae Chenab River
£ : ri . .
authority internationally. Banihal iii. Along NH-44 ip
S oly over C. Jammu and
(2) To prevent Chinese monop : Bypass % ashrmiit
¢ projects and reduce
develc}?men proj 1adelphi iv. Gaza-Egypt border
strategic vacuuin. A ad demilitarized zone ©
K - Corridor
lit aid to . £
(3) To offer permanent mill ary Choose the Correct_matcih . A
the Afghan army. (1) A, B-ii, C-iil D-1v 0
(4) To support the formation of an (2) Ail, B, G E_Tv ;
Islamic Emirate under Taliban. (3) A-iii, B-11, Cf:‘ 'fv ’*lir.
. (4) A-1, B-1ii, C-i1, D-1v
2021 B 2003 RT3 D) SF TR OSSR PRI FIne B eod dlad
%
Roe0gns HD303, 83 IBNI oI 30030E §PTRCPE ©BE P TIVNTI) E“ 4
59020° BB 3BR 00370 TwI03 3 2ROV Ul
(o
WBORRBoD V3D ISTBOIPNB? 39 ©30/73 o
. e A. onR i. eBmeede JWeS- (1)
1) e208200& 03N FoUD il
(1) eozvegy 3633 Rre DLW RB
ss3cod ePFTTRI "
o 2 B. o2 s 1i. 233020 300D
. '®
39, 0h0dBRRVRD. B3 VDI i
() DI odeenSnY HedI devors C. Mo il wdn, 3 -
D3mRR,B0NRY, IBoINFTo B3 200 53,3393 NH-44
mabedod s Dee ) 3D SPBIh. ViR, i
D. 293¢ - "
) 1IV. 723-832%° raod
3) oz:° 334 233N WAD Imoch ' 2
st i RediTe Soad
QT T, 0 ‘-.-ﬂuﬁeé;j@;l 503! ;ﬁ
(4) =dw0s® ©BODY TWRWFE HRGesss 83 i‘i? B-ii, C-iii, D3v gj:
B3t RBIORD. 3) A'Hi B-i, C-iii, D-iv 3
4) A 1, B-ii, C-i, D-iy <
1 “w

L-52-2 B
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Reorganization ol the states ol India was
carried out on the basis of -

(1) Latitude-Longitude

(2) Language

(3) River Basin

(4) Resource availability

33 3IAI oIPJWT erEedn BDed 27033TBE)
Do 1® HIT® DonBES oD, RPBRAND?
(1) 503 - Seatood

(2) xR
3) 30 =3,
(4) RoBIe,© @33

Which of the following statements are

true?

A. The Peninsular drainage system is
older than the Himalayan one.

B. Peninsular rivers are broad, largely-
graded shallow valleys, and the
rivers are in mature stage.

C. The Western Ghats running close
to the western coast act as the water
divide between the major Peninsular

rivers.
Select the correct option :
(1) A only (Z2) B,
3) A, B,C (4) C only

33 39AI] odex BePdne RDoIPAR?

A. Sodbeeod QeRB IB FEPZodw
SHRP©00E,03 BFODLTWINT.

B. Zobecod {ead I0ND DTo0TNS,
B8 B,R0600 - IV BEIWN B,
BPRONHD, DFH IAND ﬁimaﬂrgodo
GElolcIAlIIN

C. 3 30ex390dngan, Jdgedzsen
239238008T0B B3 PEND
Sobesod QBT IR0 IS
WONZIVTION FDODE VRE LTS,

ADOLRE erad,0dhI, sO:

(1) A 3n3 (2) B

3) A, B,C 4) C 3In3

L-52-2 B
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11

Which river is the major right bank
tributary of Brahmaputra in Tibet?

(1) Tsangpo

(2) Rango Tsangpo
(3) Chemayungdung
(4) Kameng

odes 3ok 833673 B, B3, IDob BFa

woRorod VBIDOITPAT?
(1) =eortSpe (Tsangpo)
(2) Ty TYONEHRe (Rango Tsangpo)
(3) 23Doborntmeory® (Chemayungdung)

(4) wDor® (Kameng)

What type of climate characterizes the
“Death Valley” in USA?

(1) Hot desert

(2) Cold desert
(3) Dry temperature

(4) Tropical monsoon

e2:ed8 Woodnd ﬁo‘@étﬂg‘};& "a’g_)éaéﬁeéﬁodw“
oA 20D Seodnrdee &me}iea BRODTI.

1) vz Sozdem
2) 3e3 Sdozied
(3) R, =BRe3
4) evgReohs IR’

P.T.O.
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{2 What is not truc of South Africa?
() I produces (wice the steel
production of the rest ol Africa.
(2) It produces more than 70 percent

gold of world.

(3) It produces 50 percent elecetric
the continent.

(4) 1t has the highest density of
population in Africa.

B3O QT 2D oI AWSY?

(1) b & mn NPT IONRE) 0T, DR
eV8,N03 QTR De), L) VB,
VI, HRIT.

ity of

(2) @b wn8I Bedwd 70 8,03 e 23330
VT DRST.

(3) @amd 2T RDVOBE JeBBEO 50 D@y
R EODI G CDIARRCIAR

(4) camd H:’e,ﬁaﬂgf 23,3 mﬁmn@éaﬂ:ﬁg{
BPoDT.

13 The major crops grown on red soils In
India are -

(1) Wheat and Rice
(2) Tea and Jute

(3) Jowar and Ragi
(4) Wheat and Cotton

20830¢) 30 SedIQ 23Podn=3 Hzdoa wivnish.
(1) ek DA %3

(2) 2mo D) Beoed

(3) 2Aeed Hd) TN

4) ek DY B3

L-52-2_ B

. : Delta formation,..
ith relc , _
Wi e following processes:
1 river velocity as it
[ain region (

B Coagulatiol

C [ncreased erosion rate at the river.

4) A, BandC on
S0z oD U0, R0200RABOI s9rt
VBB BF0DRIIY DO

wiF

A. 3003w I 203333 B,23e DTN
3In0d Sere) 3BT

- ELY o
L & X ™
- I Ll

B. ovug), dedJomen 28ed BEOMSD

PACTTLNRNSS.
C. 300 0B B3R JRee0sd _
OPIPNDIIE/Bes RS, -.??3
SeIVZHRES 0370 By IO B DWLIRN"
NFIOE 08, FIVEITIONTS? :‘1
J

(2) B 33 C 3ng
(3)
(4)

A B3 C 3ng
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15 Which one of the following is an
important tribe of the Dhauladhar range?

(1) Abor (2) Gaddi

(3) Lepcha (4) Tharu

33 3INIHRYY AR PGS Besdod

R,:080 2WEEIIATI?
(1) ee3ec® (Abor)
(2) ng (Gaddi)
(3) = (Lepcha)

Q
\
(4) @ (Tharu) @WS

Ul

16 In India, the dispersed settlements are
often found in the state of -

(1) Uttar Pradesh
(2) Rajasthan
(3) Kerala

(4) Tamil Nadu

20030 23007 [RND 0o ToRBO
ﬁmtﬁ)&.}tﬂ}éﬁ?

(1) ev3d JWed (2) vommRs

(3) &us (4) 30D

L-52-2 B

17 Consider the following statement

regarding the peninsular plateau?

a. Doddabetta is the highest peak of
Eastern Ghats

b. Dhupgarh is the highest peak in the
Satpura. Range

c. Trimbak is the source point of river
Godavari

d. Mahabaleshwar is the source point
of river Mahanadi

Choose the correct answer:
(1) a, b and ¢ are correct
(2) b, c and d are correct
(3) a, b and d are correct

(4) b and c are correct

Bodneod QBB BFIPWT BowoprBoS B3

3FB0B DEPINTRY, MDD

2. WREIEID BPSE P3NV 93,03 9303
3DTING.

b. Bexro® meR)T JeedodbdI 303
D30T 30T=NT.

% gabamae RIIRD Idodh eunzd

TN, |

d. DFoWSeBTR) DHTI0 Inodh evnEDd

TRJeONT. 3 b
xooded evdvRI, erod, Ik
(1) a, b DD C ROoIPAEI,
(2) b, c 3 d IDoIeASS.
(3) a, b 3 d IdoIPASS.
(4) b DD ¢ FdDoIen:.

P.T.O.
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18 What was the theme of the United

Nations General Assembly 'Summit of the

Future' held on September 2024 in New
York?

(1)

(2)

3)

(4)

Transforming out world : The 2030

Agenda for Sustainable

Development

Multilateral solution for a better

tomorrow

Building Resilience for a

sustainable tomorrow

Strengthening Global Partnerships

for Inclusive Development

oot 2024 o]0, draéo.baaﬁ‘EérQ SAR

olo3edae Seakat, w3V o)) "WIRA

Borized’ ob 3 dRod dAD?

(1)

(2)

(3)

4)

L-52-2 B

S, VNII), RIVTIE BRIR)W: D}T

0N 2030 sooberee3 (agenda)

V3D ToPTON 20F) ﬁg:_;oh Fileenle)

m’a%u’ ~pi*faria -:-T’UE)ESE‘%@ NSITOE €D

(Building Resilience)

DUDIR, WwIrteor (ﬁ;i)@) waba%%rmh

23AN33 TOITRDIRTR), WOBBTIZ.

19

n 2024, the BRICS group of leading
emerging cconomies expanded to inclyg,

five ncw member countries.

a.
C.
C.

f.

Egypt | b. Ethiopia

Turkey d. Iran
Saudi Arabia
United Arab Emirates

Which countries are among the new -
members added to BRICS? |

(1) a, b,c,dande .:_'

(2) b,c,d, eandf

3) a b, d, eandf

(4) a,c,d,eand f

2024 BQ BevRAMB &7 PE F3gad O)F

~

a3y (BRICS group) =oh 6= Az O

m@ ﬁeﬁaﬂg{ ACD2ERORD DDA,

a.

C.

f.

BT, b. w®cdecanin
§)
290 98Dl (0

Q'b.‘l%éﬂﬁe e9323° @a}ﬁfﬁ (7]

"QBHRIY oo Bearies Dot ek AR

RPN (BRICS) zevzeptss, O
(1) a, b, C, d 3y e 8]
(2) b! Ca da C ﬁ)é) f

(3) a, b, d, e D

1) a, C,d, e 3 f

P.T.O-
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20 Which of the following is/are part of the
17 United Nations Sustainable
Development Goals (SDGs)?

a. Zero Hunger i

b.  Affordable and Clean Energy”
c.  Clean Water and Sanitation
d. Space Exploration |

e. Reduced Inequalities~

Choose the correct option below

(1) =, b.¢ande
(2) b, d and e \\\S)Q%\
(3) ¢ d, eanda N\

32

83 §9NI ohedHD/D 17 oo edme SeRDY, T
@abé}% ™ong (SDGs) goentesons?

(4) b,c,dande

a. 3Rl DAY (DR K0d)

b. 2IPRVPTR DD g 203 (Clean
Energy)

C. &F A DR JDEe
d. 53 D&
€.  IRINPIIATIY SN

83 33AS D03 &foﬂaﬁai}d:_)l crD!

(1) a, b,c DR e
2) b, d > e

(3) c,d,edDa
4) b,c,ddD e

L-52-2 B
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Consider the following statements about
the 'Stand-Up India' Scheme.

a. It provides loans ranging from X 10
lakh to X 1 crore.

b.  The scheme is aimed at Women and
Scheduled Caste (SC)/Scheduled
Tribe (ST) entrepreneurs.

c. It includes large corporations and
industries as eligible beneficiaries.

d. Farmers and agricultural workers
are key beneficiaries of the scheme.,

Which of the above statements are
correct? Select the appropriate option
below :

(1) a and b only

(2) b and c only

(3) c and d only

(4) All the statements are correct,

TR, ;0B° 5 oo’ (Stand-Up Scheme)

olees HOB B3 BPNI BeVINIIY, JONEDR.

a. @b de. 10 03 RYo’d de. 1 decesrs
SBNI ORI, wBARE.

b. 83 clecxdoin BbFoh D) SOdFY
2308 (SC)/E0d5 Bondd (ST)
NG DBCOTR), ODOIPART.

C. @I, BE PERILIINTIN ﬁmg
T’uﬂ%“?‘i@ﬁa D) EMODINIIY 29T R0BT.

d. 33 D) da dURmOD odeexsod

BBV POOLIDRFONTT.
DeDF odpR BeRdnd BOIPARN? B3 §INI
20037 erod,odb), erOR:
(1) a3 b 3wz
(2) b D3 c 3w
(3) c D d S,

(4) oo BePénsh IDOIPNEI.
P.T.O.
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22  Match List-I and List-II

List-1 List-11

a. Primary ‘iscal Deficit —
Deficit Interest payments

b. Revenue Revenue
Deficit Expenditures —

Revenue Receipts

c. Fiscal Total Expenditures —
Deficit Total Receipts

d. Budget Budget deficit +
Deficit Government's

market borrowings
and liabilities
Select the correctly matched concepts
from the options below :
(1) aand b only
(2) b and c only
(3) c¢ and d only
(4) a and d only

631 3y, Be3-11 Qeodr ook

2e3 -1 &3 -11

a. DRI dpcdeod 383 —
3003 208 Toweohnid

b. 3Zomeod goreod 3¢ — domaod
4T3 RCEBTD

C. dnedeod D) SIND —
03 kY AT BT

d. ob-Zob : erob =0d 8083 +
403 I?’aﬁ??ﬁﬂ mﬁ}ﬁ%

.., - D03ensh DR
RRBMODIRD

89AS erodRivorn BB odA BRoBBOIPTHIS
SOEQIoDR), esdR.

(1) a3 b =353

(2) b 203,

(3) cRDHd J503,

(4) a3 dsng -

L-52-2 B

23

10

[ and List-II
List-11
Currency with public,
i.e., coins and currency
notes + demand deposits
of the public; also
known as narrow money,
M1 + Time deposits of
the public with banks;
this is also known as
broad money.
M1 + Post office saving

deposits

M3 + Total Post office
deposits

Select the correctly matched symbols and
definitions from the options below :
(1) aand d only (2) a and b only
(3) band conly (4) c and d only

Be3-1 ) D311 I, BeodA.

Match List-
List-1
a, Ml

b. M2

c. M3

d M4

Be3 -1 &3 ~11 o
a. 20, 11 IR PN T3 Q063 ~
(M1) . een snre 80, SRcEDTIH 5
+ TOREBRIZ0 23cB8 BeRdANRD;
$00h (o) DRIV BED
ROWR BB 3Y0H2oa).
b. 90.2: qo. 1 (M1) + 23,08NRY
(M2)  200ctrs mosesds wso +
BeIARD, DT {atols
FEPER) Bew ok B 8voh
0Bt "
C. o, 3 0. 1 (M1) + es093 3e3ed <
; M3)  evomadn Begesres
Q0. 4: 50 3 (M3) + b3 €9023 -
M) 3eSedob Sesearian j

83 39N erod) P08 odron BRodsoIRE

() bas . % @ amgmband 4
oany (g ¢ 3 d 393

P.T.O.
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24

25

Who was the first. architect behind (he
Panchayat Raj System in Karnataka?
(1) Mahatma Gandhi

(2) M. C. Raja

(3) Dr. B. R. Ambedkar

(4) Nazeer Sab

3J9E €330 D0LIODHI® Togs BR0D &HodRI
3@ DO0ITH? :

(1) ﬁ]ﬁa’é‘ [aD]e]A]

(2) Q0. . T

(3) wo. D.&5O°. es0e3erB,0°

(4) SoRcT® To®

Match the following :

Yojana Year

i. Nirmala Gram Yojana a. 2003

ii. Jal Nirmal Yojana b. 1996

iii. Akshara Dasoha c. 2005-06
Scheme

iv. Yashashwini d. 2002

Choose the correct option from the
following codes:
(1) i-c, ii-b, iii-a,
(2) i-b, ii-d, iii-a, 1v-C
(3) i-d, ii-a, iii-c, iv-b
(4) i-a, ii-b, iii-d, 1v-C
BRODY WTAND:

iv-d

DRE

. ADE® TR o3eees a. 2003

ii. z=e Do odeeess b. 1996
i1i. 238 Ooee®m 03RC%S c. 2005-06
1v. 03 d. 2002
393 Bose3nRYor ROOIPT emédﬁaigl DL
(1) iv-d

(2) iv-C

(3) iv-b

(4)

i-c, ii-b, 1ii-a,
i-b, ii-d, iii-a,
i-d, ii-a, 111-C,

i-a, ii-b, iii-d, 1V-C

20

27

According to Chief Economic Advisor
Krishnamurthy Subramaniam (Indian
[Economic Survey 2020-21), what is the
shape of Economic recovery?

(1) U -shape (2) S - Shape

(3)

=08 HEB ROBOV GARRNUOSE A0
(Indian Economic Survey 2020-21) %0
e»RED B30 ?_’%timﬁ;ﬂfsb?

V - Shape (4) Z - Shape

O - €230

(2)

(4) Bow® - 50

(1) odn - &30

3) & - 50

In which economy do consumers and
producers make choices based on market

forces of supply and demand?

(1) Market economy
(2) Open economy

(3) Controlled economy
(4) Command economy

oins #REBSohO) MBI DF) GVIYWID
BT DY) 2leddod RreTode], BINS &PITT
Ded) erodReR) BRRBIT?

(1) Rethde] eRed3
(2) Rw3 &PedS

(3) dodhod3 HPETI
(4) HE%I;BEJB’ 2 QE TS

P.T.O.
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28 According o A.K. Sen, fai

29

nines occurred

cause of —
ET)lnTzcllJ\cnf proper distribution
mechanism
(2) Lack of demand |
(3) Lack of transportation
(4) Shortage of food grains

2.8, Bea® &RV BT, 2 J9C3RS) aaai}ﬁ*ﬁ:: AL

RoWNWBD) -

(1) 30doInd 30w ohEDFIST 8R0S

(2) 23etddod 803
(3) w07 3003
(4) om0 PN T3

Consider the following statements :

i, Climate change is primarily high to
the per capita annual emissions of
Green House Gases (GHGsS).

ii. India is one of the most vulnerable

regions in climate change.
iii. India has 75 Ramsar sites for

wetlands.
How many of the above statements are

correct?

(1) Only one (2) Only two

(3) All three (4) None

39NT BePINTI, LONEI!

1. BDORIOI W IRHOIN RROI!
2%e3*ne (GHGS) (33503 e9sens)
300 TRAET BATVRARIZODI)Y IS,

11. 279035 D03 wﬁmdﬁcﬂs@ we’ﬁaé
DE® BUBRIE 2womans,

iii. 2390308 239r02dpnoman 75 SR Ve
SNV,

SedR SR BePIRD BDIRAZ?

(1) 2o 23 (2) a8z X3,

3) 2RBad  4) aingy s

12

30 CﬂnSidEr t

he following land reform

policies - et
Q) It reduces disparities 1n wealth and
i -

[arger land holdings are reduced

r size by 1mposition of,
i‘!ﬁ

(i1)
to smalle
ceilings-

Choose the correct answer from the

W -
options given belo

(1) Both (i) & (ii) are correct and (”)

is the correct explanation for (i).CO
i: A

Both (i) & (ii) are correct and (11);
is not correct explanation for (i).™

)

(2)

(3) () is correct but (11) 1s mcorrect.g .

4) () is incorrect but (ii) 1s correct.

LY
l}l

85 39RS 230 EICH BRI, JONEd: (1)

0
(i) @ Bo3R D) &EoITBI ()
IRBPISRIR), R FPRIT.

(i) QToOT e LBBLRII, SBRB-,
B0y DPRB Beed B3regs

#)

f&%@a?bgz:‘)’. 04)

0

39N AeBend 2OPNPOT BDOIRT eruézﬁa’ab f)

5
-\..\.i
[
i

D 4:

(1) (1) 3 (ii) 23R BBIPAS DR (it).,

2D (1) B ADoInd B3BoIPAB
O)

(2) () B3 (ii) 28R RooIPNS D) (H) )
2D (1) 3 2Boing DRTBODE. m

"
i
-
{ ]
‘I

(3) (i) Booinnes s (i) 3mns.

@) () 3mps eas (i) 2oaipnd

P-T-O'
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which of the following was not a part of

31
the Preamble of the Constitution of India?

é"s :3 (l) RC}]UbHC (2) Sﬂ\’ﬂl‘ﬂigﬂ
M 5 o
ﬁ 0 (3) Socialist (4) Democratic
ﬁ 0
rﬁs ;1 g5 39N oY RT3 RodIB BrRSIob
$$ (PRADDDY?

o)

:; (1) Reooozy (2) BB

0

0 (3) RBPw=D (4) o33

M

~ 3 Who described the Preamble of the

o) Constitution as 'Political Horoscope'?

0

@ . V. Kamat

pos () M ama

* (2 Dr B.R. Ambedkar

O :

ol (3) K. M. Munshi

8)

0 (4) Dr. Babu Rajendra Prasad

J, R0 BRRIODR), "ToEICOD

<

2330 IAERRR 03PT?

®

A R

a0

0 (2) . D.eso. 90BO°

. -
-'\-}

|

il —_

1
A

(3) 3.0 5’-"%

33 Which of the following Articles of the
Constitution prohibits employment of
children below 14 years of age In

factories, mines and other hazardous

employment?
(1) Article 24

S\

(2) Article 41 \\\D?
e

(3) Article 45

(4) Article 26

S0DEIR B3 89NI 035R Eﬂd&%ﬁﬁ@ 14
IRE8,03 FFROLYS DZII), FAWEIND, ED
oo B30 2I0hEd NVRLNNTE 3e0B

R0RZANDBIY, RPRZT?
(1) eoeded 24
(2) ﬁﬂé}%ﬂj 41
(3) DY@ 45

(4) YD 26

13 P.T.O.
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Match List-1 and List-11 and choose the
correct matching from the code given
below :

List-1 List-11
A. Directive I. Scheduled
Principles of Areas

State Policies

B. Fundamental II. Uniform Civil

Rights Code
C. Fundamental III. Abolition of
Duties Untouchability
~D. Fifth Schedule IV. Respect for
: National Flag
Codes :

(1) A-I, B-1I, C-III, D-1V

(2) A-IL, B-III, C-1V, D-I

(3) A-IV, B-II, C-III, D-I
(4) A-II, B-1V, C-III, D-I
2e3-1 D) Jede-Il IO Boodd FTone F97
8083003 RodeBNnYor XD YUSTHIY, &OR=R!

263 -1 =e3 e-11

A. Doz dedod [.  eoJRee33
NWee38 3N B,WCSN

B. Rwwoyine3d I[I. %WeI Sond3d
BB,NRD 203

C. Rwewzie3d III. em 380d
83E BN QRRE O

D. 283c eomees IV. 0o BRsd, T7O0
ARCTETR:

(1) A-I B-II, C-III, D-IV

(2) . A-II, B-II1, C-1V, D-1 -

(3) A-1V, B-II, C-III, D-I

(4) A-II, B-1V, C-III, D-I

L-52-2 B

14

35

The right to free education is specifically

held in -

(1) Unni Krishnan V. State of A.P

2) A.DM. Jabalpur V. S. Shukla

(3) N. B. Khare V. State of Delhi

(4) Balakotiah V. Union of India

ves3 3300 B IDEFTN S5 3IAI

%ﬂﬂmﬁ@ DCLCRAT -

(1)

(2)

3)

(4)

S0 BEWS® &)‘d)ﬁm D.&. T &3

D.B.90. BT DG D.9%°. B

AN, 83 mﬂo:g Aaf<l) To%

WRERcEI Ol DG 470838 2dRE3

P.T.O.

(% scanned with OKEN Scanner



36 Match List-1 with List-11.

List-1 List-11

A. Doctrine of 1.  State of Madras
Waiver V. U. G. Rao

B. Doctrine of 1I. Depachand V.
Judicial State of U.P.
Review

C. Doctrine of 1II. Beharam V.
Severability State of Bombay

D. Doctrine of V. RM.D.C. V.
Eclipse Union of India

Choose the correct answer from the
options given below

(1) A-II, B-11, C-I, D-1V
(2) A-I, B-III, C-II, D-IV
(3) A-II, B-I, C-IV, D-II
(4) A-I, B-II, C-1V, D-III
=e3-1 J, 2e3-11 B3I Bood2d:
=83 -1 =e3-11

A. 0305 I. %‘Eéﬁe &H® DR
27903

[
mﬁmﬂﬁ

DHIB3R e

@ﬁ)tg 0.23, Do

B. 1. &ezee3003 é)ﬁjtg

%f&ﬂs 25 odn.&.
203
[y

. AONBDD I11. 230 é)dj%

Pummﬂé %6539 P’ 230023

D. IV. e50%,. 0355.8. 2. adag

€923 (AIND)
F—'at;}gﬂé oheRoba® ersf @oloie

3978 DA erolyrRvon IDIRT VBRI,
PO
(1)
(2)
3)
(4)

1522 B

A-III, B-II, C-I, D-IV
A-I, B-III, C-II, D-IV
A-III, B-I, C-IV, D-II
A-I, B-II, C-1V, D-III

15

37

38

Which one of the following writs should
be issued to produce the detained person
before the Court?

(1) Mandamus (2) Habeas Corpus
(3) Prohibition (4) Co-warranto
oz DE° epd Jpdwent o3 Jsoh,
aaéoimmahtﬂ S00T BoETOH BRI ETHI?
(1) SHeorIx° (2) SDBeDods® et
(3) Ppcodas® (4) deceBorinc

Consider the following statements :
Assertion (A) : Parliament may make
laws for the whole or any part of the
territory of India.

Reason (R) : The Legislature of a State
may make laws for the whole or any part
of the state.

In the context of the above statements,
which of the following is correct?

(1) Both Assertion and Reason are true
and Reason 1s the correct -
explanation of the Assertion.

Both Assertion and Reason are true -
but the Reason is not the correct :
explanation of the Assertion. ;
Assertion is true, but Reason is
false.

(3)
(4) Both Assertion and Reason are |
false.

89N BePVINSIY, NDJ:

ADZES (A) : ROAR) 20033 2083) Tog
i\f%@aﬁ@, SRT 0IPJYTRT ARIaTONQTY
FORRIINLIY, TeIRVDT.

o0 (R) : 2.0 TORE QPR DoBOH)
2083 TIRTNS WP BTV adFHmR3N
QPNENRO FORADINLY, Te3RB)T.
20T BePIRe RoBIEB HbFSoD
Fxielevinial VST, FORD:

(2)

(1) %0m D IDPeS 8RR FDIPAS,
DB TR IDFeSodh Do
DRTEBOINT. '

(2) IDPeS D) 580 TR BOAIRA,
BT 500N IPFeIod DRI
QRTHoD.

(3) RDPES ZDoHAD &TT 5T 3JAT.

(4) IDPeS DR) T FTVRR 3TN,

P.T.O.
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39  Which Article of the Indian Constitution

defiance the duties of the Chiel Minister?
(1) 163 (2) 164

(3) 166 4) 167

2030 RoNPIIR oI wd:egﬂ:ifé)
S0Hod od 3B RNI]Y mﬁmﬁbﬁogﬁ?

(1) 163 (2) 164

(3) 166 (4) 167

40 In which part of the Indian Constitution
there is a provision for the establishment
of the State Public Service Commission

and the Union Public Service

Commission?
(1) XIV 2) Xl
13) X1 (4) XVII

279030 RBoDFIIT 03RS YNBE) oy
SacdReme erodeent DA deor, SecsressD
203N T m{pﬁ;ﬂ?’i 2R3N ?

() Iy (2) XI
(3) Xl (4) XVII
L-52-2_B

16

41

42

Which of the following is not matched

correctly? N
(1) Article 312 Provision of Public

gervice Commission for Union and
States. '

(2) Article 316 : Appointment and
tenure of members of UPSC.

(3) Article 320 : The functions of
Public Service Commissions.

(4) Article 317 : Dismissal of members
of Public Service Commissions.

2SAIINIS oI 003N

2 00D803RRDHOL?

(1) eoDed 312 : 3coq, B TN
SoedSesso €203 Rena NDWOR.

(2) taab%ftﬂ 316 : UPSC 36x0
SeDBd DR IPTITIRY.

(3)  ©DYed 320 : SR e20dRenng
R,50PEND.

4) @dﬁ%ﬁd 317 : eedResse ePoIReNnNS
RBRTRY, SPRRVRDT-

Who was the first women Speaker of
Karnataka legislative assembly?

(1) Smt. Margret Alawa
(2) Smt. Motamma

(3) K. S. Nagaratana
(4) None of the above

3IELIE APIRIoD BB Hdbve & €80°
0d5Bh?

(1) &3 Zereders e
(2)  Sed3 RRceI),
(3) 3. DS, mﬁ-d%

(4) Bed3IeQ ainmte ee

P.T.O.
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(Question no. 43 and 44) : Study (he lollowing,

paragraph and answer them accordingly:

In a car exhibition, seven cars ol seven

different companices viz Cadillge. Ambassador,
Fiat, Maruti, Mercedes, Bedford and IFargo
were displayed in a row lacing east such (hat:

. Cadillac car was to the immediate right
of Fargo.

II.  Fargo was fourth to the right of Fiat.

[II.  Maruti car was between Ambassador and
Bedford.

IV.  Fiat which was third to the left of

Ambassador car, was at one of the ends
while Mercedes is at other end.

(Rosd 43 DD 44): 39AI SYTOR, 95 0LI Sk
DY) T30 GLID:
20T F0INY IRBEIBD, DD AAG oINS
DD FTIND Q0BT FRGIFE, LHORPRBTE, &Hode*,
[T, DRERTE, WrtHpeEte D) POTRE D),
DRI, InoIed §PNJod ecBRPAT.
L. PONRES 33EBET WORTOZ 5B 59T
|3,
II. &ocdhesr3 WO Joe)Se ru_&:;ﬁtﬁ@ DOTURE T L.
III.  e902280° ) WatPpertens Irdss F0chd
50) A,
[V.  ©o0emdo® 503 oaByend Suedse RBY
$ODE B, womd 2AIohIFY, aenzs
IR0 ERIohAT,

L-52-2 B

17

43

14

Which one of the following groups of
cars is (o the right of the Ambassador

car?
(1)
(2)
(3)
(4)

Cadillac, I'argo and Maruti

Maruti, Bedlord and Fiat

Mercedes, Cadillac and Fargo
Bedford, Cadillac and Fargo

39N 0lpR DI o) orPRBT? 7B
20PNRII?

(1) bR, rer Hd) I -
(2) FPDS, WrtdpcEts DY) Hob 7

3)

(4) IetBpcrte, pRREE DD Fortee

Which one of the following is definitely

true?

(1)

(2)

(3)
(4)

(1)

(2)

(3)
(4)

RREBR, BBR@E® D) PrkeE

‘BA

Maruti is to the immediate left of

Ambassador.

Bedford is to the immediate left of

Fiat.

Bedford is at one of the ends. u

Iiat is second to the right of Maruti. _
3INIINIY cdeHmbd dsoBeon DeseoRS? -

GOLRRATNS 3308 ABRRORD <

RS T,

HODE® 33T SBRRRORY -

WB*DpeEs e agd.

B BRentE 200 RS0, x)

RP30D EPNRE ATBIC @dlﬁg} oft

SHobE3® ard.

P.T.O.
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.. 46

47

L-52-2_ B

Find the missing value?

(1)

3) 41 -

23

VAN
4 6 5

2) 37
(4) 47

Dep Boer WISobRY SorBRAND?

TANIRZACICVON
4 6 >

(1) 25 (2) 35/
(3) 41 4) 47
Find the missing values ?
2-15 |10
17 1:2 |37
50 | 65 | 82
(1) 20 (2) 26
(3) 2I (4) 32
De3) BT 2330, BoBDBAND?
215110
171 7 | 37
50 | 65| 82
(1) 20 (2) 26
(3) 27 (4) 32

If “all dancers are singers” and “some
singers are girls”, which of the following
statements would be definitely FALSE?

(1)
(2)
3)
4)

All dancers are girls.
Some girls are singers.
Some singers are dancers.
Some singers are not girls.

' PO HORMOR DR B
RO HRNHD” T3, 9N aded
Se03RD TN SHYNTZI3?

(1)
(2)
3)
(4)

DR %%mﬂda PDBDACHT »
20 RHRNOHT TIRMITT.
30y HIBMITT dbéémﬁﬁa.
30y HIRTRT PRNODLT.

18

48

49

team of 11 players 1S to be

A cricket
ayers: 4 of which are

selected from 13 pl
d 2 wicket keepers. The

bowlers an
ways (0 select the team,

number of

consisting one wicket keeper and at least

3 bowlers 1S

(1) 8 (2) 22

(3) 112 4) 110

0, ST 0RDD 3,3¢3° 30BN, SORRITNT. 2,00

o geseo® S 305 3 WPUTRIR) Fpodd

3orzy, OReD A0S SN Boajod

(1) 8 (2) 22

3) 112 @) 110

The number of times the digit 5 will be
written when listing the integers from

I to 1000 is
() 271 2y 272

(3) 300 (4) 290

1 Bord 1000 SN Bpmoe3ne De3a3ocdiesn
03 5 obhI DT, 2390 Tohdesrd3n?

(1) 271 (2) 379

(3) 300 (4) 290

P.T.O.
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50 Which of the following clements are used

to block direct current (DC)?

(1) Resistor

(2) Capacitor
(3) Inductor

(4) Transformer

33 89S ©0BRIO IR I3

AR D BRI, (3B0e3®) Srdobhen
PRV,

(1) ®a3oe

(2) 3d=oae30®
(3) =oBFo®
(4) eRIHoeT®

51 Why are internal partitions provided in a

diesel tanker used for fuel transportation?
(1)

To increase the fuel capacity

(2) To enhance the appearance of the
tanker

(3) To reduce fuel sloshing and to
maintain vehicle stability

(4) To allow faster re-fuelling at

stations

ROPIRI)Y, FONRD RERSP £3,080°RFY 2INI
NIBINII, V8 FeBwTHIT?

(1) 20838 TP S, BLYReD.
(2) 39,080°3 BRIBIY, RoRTRevRED.
(3) ©oPIB D3RI, 3D Inden I

PBIW JTI0DI), eVLRERFED.

(4) FeRIRIO 2oBIB JI0eeI3€ b
SenSDY, Bejaen.

L-52-2_B

S2

53

19

B3

In multi-storey buildings, which of the
following device is commonly used as a
smoke detector?

(1)
(2) Solar cell

(3) Transistor

(4) Photo cell

2®) DBRNG IBRIY, 83 3N ode
FIANTANANERDIMDINEAL BPTIODI,
2032 20I0E TPITN TR,

IFire alarm

(1) R, 9RFE

(2) 7B3ecd BB
(3) tRIRD°® TER
(4) Ppeedncie® HTPI

Which scientific principle best explains
the working of a perfume sprayer, where
liquid perfume rises and disperses as a
mist when the sprayer is pressed?

(1)
(2)

Pascal's law
Archimedes principle
Bernoulli’s principle

(4) Newton's third law

DRMP, SF° Ti ohotId, ?‘é,, oHT® 3TN B
DR, FR° e HD ot (WEF) BRITY
HORZW. 83 30DHobI), V3N RO

e 8 33odwyh?

(1) =Re*3 dobsd
(2) er3eBTEI RTIR03

3)
(4)

I]eeedod ?.;mgoé
aimﬁamﬁé 0T3¢ JohRD

P.T.O.
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L-52-2_B

In a house, a 60 watl olectric bulb !5
used continuously for 6 hourts. What .15
med 1N

the total electrical encrgy consu
kilowatt-hours (kWh)?

(1) 0.06kwh (2) 036 kWh
3) 3.6kWh (4 6.0 kWh
ot HSabd 60 st D3t DI
RotiRS 2O WIRNHIA. B3 300hE ),
&Jt:;%ae 380b) B olReARRTHZE.

6

(kilowatt-hours R$&)?
(1) 0.06 kWh (2) 0.36 kWh
(3) 3.6 kWh (4) 6.0 kWh

In a family, there are six members A, B,
C,D, Eand F. A and B are a married
couple, A being the male member. D 1s
the only son of C, who 15 the brother of
A. E is the sister of D. B is daughter-in-
law of F, whose husband has died. How

is E related to C?
(2) Daughter
(4) Mother

(1) Sister

(3) Cousin
20 DEDoWTY A, B,C,D, E &% F
202 &30 RWROWIT. A D3 B 03
Bo38n. A odn HBoR ABANDES. A 3
28068303 C 3 wyde &R D. D 3
22030 E. B oo F 3 Redodendized, F 3
28 3),30eNTHIT. E odn C R} et Ro200)7?

(1) RBeEO (2) SJnd *

(3) ZAReET ROWOY (4) =D

20

50

S7

he nature of work done on g
n

Wwhat is t
yniform circular motion?

obj ect 1N
(1) Zero
(2) Positive

(3) Negative

(4) Depends On the particular situatjop,

HEBRBT 339890
3000 3URE 0P HVNTOZT.

(1) 2°%

(2) B33
(3) 9HE3,3

(4) dbEg Sogsad Hed BSBOODRDI

[T
’ |

5"

§

If the velocity of an object is doubled

then -

(1) its kinetic energy is doubled

(2) its potential energy 1s doubled
(3)
(4)

200 FRDI SerSy, QrOORRIBT -

its momentum is doubled

its acceleration is doubled

(1) 03 dos 88 prderte?3d
(2)  oud 333, By groerteddd
3

) &8 &SR QroerieR3s

(4)  oud S Sged grorreds
p.T.0:

%
5 ]

[ - =1 L
. ! = 4 - _—
Rt N —-: =
—— e

-
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58 Two position of a dice are shown below.

Which number may appear

_ . car on the
opposite ol the one having 59

3 3
| 2

Which of the following possibilities are
true?

L 3

I 2 \
O

1. 4 o

N

IV. 6 @Q?

(1) Either I or III

(2) Either III or IV

(3) Only III

(4) Only IV

83 391 e9nY TR TPIBIY, SeVRLNT,
5 3 OHY 0353 Toss; GOEIRBRZRITOTD?

3 3
1 2

2 3R odss RopRRRed ROIPNES?

[. ]
IL. * 2
[I. 4
IV. 6

(1) 1 esideme 111
(2) I esgese IV
(3) 3edo III

(4) B0 IV

L-52-2 B

21

50 Directions :

E, I, G H and K visit a
hospital on week days. Each one of them
is a physician, surgeon, dentist,
cardiologist, nephrologist but in the
random order. Each visits the hospital
only one day in the week and attends to
the profession only. Consider the
following information and answer
questions based on it. ‘
I. The physician visits hospital every
Monday.
II. E is the cardiologist who comes
neither on Tuesday nor Thursday.
[II. K is a surgeon and G is not the
physician. |
IV. The doctor who visits the hospital
on Thursday is not a nephrologist.
V. H works on a Tuesday and K works
on the following day.
Who is the physician?
(1) E (2) F
3) G 4) H
dBee33 : E, F, G H 23 K 5233 dINFI
7R3N 23ee3 eRIT. ARDNLY o i ZesoNn
2R&a° (physician), IBWEI®, ToI3H;0;.
BBRM3E, 3 LHoB T PNTIZIT.
3 N o - =, —o
2303080 T8RP wold DI I3, YRAIN

23et3 AezHIT DB) SR, RSN TOWTITVIT.

33 9N JpH3oDHI), ORI DI VBT

&SPITR eS BB Yu30A.

I. HRRI® B3 WDV FRIZT 23eE3
QeTIT.

II.  E o g@emdygsend), o33N
ONBTNR® 93 TSIV INS
AlevnALD)

III. K od»3xess AT D) G ol &Ras®
ATIPDO.

IV. Rdee38 es3318 23ee3 Jedad B0
M%&Dﬁ?i% TN DD.

V. H Doreg:d 3er S50@3e8 SR K
odn DBDI VR RPRISIT.

B3 3INIBDHRSE) SRR ART?
(1) E (2) F
3) G 4) H-

P.T.O.
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60 Which of the lollowing statements

regarding the Tibetan Plateau is/are
correct?

A. Itis the world's highest and largest
plateau.

B. It was formed primarily by volcanic
activity

C. It influences the Indian monsoon
system

Select the correct answer using the code
given below:

(1) A and B only
(2) A and C only
(3) B and C only

(4) A,BandC
£32383° %ﬁe&mmﬁ 20WoRATB03 FFNI 0IR

D3/ NP RD?

A. %ﬁﬂ?ﬂtﬁ Eﬂéﬁna’ 230E DY) 3
cﬂjargmzj %?‘ém,iram

B. b So@anidcmen 25o0=0D
236303638007/ FooD e 23TBANOT
NSTOE £REINT.

C. cardh 20038 B30I Sz3ad sdHed
Bes DTS,

39N Rode3n@or XD eVZTBI, erodbRRA:
(I) A 3 B 3n3

(2) A SFC 3In

(3) B &3 C 3w

(4) A, B3 C

601

(2) Only C -

Who among the following was associated
with Ghadar Movement?

A. Barindra Kumar Ghosh
B. Jogesh Chandra Chaterjee
C. Ras Bihar1 Bose

D. Bhupendra Dutt

Select the correct code given below:

(1) Only B
J'D!M@ [REYoNDPS]

(3) Only B and C

(4) Only A and C

83 3930BIHNSY oIty NWIT® B3P0
ApialeNipiainies iy

A.  2Do7, HRETT Fuecz®

B. Recries® o, wdene

C. 09=® Dxed Wocss

D. 2dnscod 33

397 AeBUT TOOIPT RodeINIR), 2o PR:
(1) B 33

(2} C [T,

(3) B33 C K008,

4) A=) C a3n3

e 22 P.T.O.
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62 Arrange the following in

| ascending
chronological order as per their formation

year.

A. Satyagraha Sabha

B. Awadh Kisan Sabha

C. Hindu Mahasabha

D. Ahmedabad Labour Textile
Association

code :

(1Y D, C..B, A

2 C A DB

3) C.D A B

4 A, D,C B

g5 39NIIRG TudSobh IRV JFT 20
RRDZHTO SINIIRI, VRO

A. BIN® WP

B. es30° §50° A9

C. &oBn Doa

D. oa33wen® Seoo® e388E0°
eTRRCRODCRD®

ROBC3!

(1} D€ B, &

2) C.A,D,B

3) C.D,A,B

4) A,D,C,B

L-52-2 B

03

23

Which among the following resolutions
was passed by the Indian National
Congress in its Karachi Session of 1931.

A. Neutrality of state in the matters of

g # 1

1] [
=

‘_.‘_i:
i &
il ]

|
oy

religion.
B. Election based on universal adult
franchise.
C. Free and compulsory primary ¥
education. ‘
D. Substantial reduction in rent and
revenue.
E. Protection of languages, scripts and

cultures of minority.

Choose the codes given below and select
the correct answer:

(1) A,B,Cand D
(2) B, C,Dand E
(3) B,Cand D
(4) A,B,C,DandE
3930BINTY odexd Jeoe oLNRLIY 2PT3eod
mi cod soriea® 1931 T o SlavS ALY
3D RREDRSTDDR.
A. TONET NPTNLY ToT Ie3n3
B. %Rcd3 SI0hw, DTHBTT Hed
DTN,
C. o3 D3) dmaod T s deo
D. 2087 ) 3omeodhRBY medw), av3
E. eoRosn30 PRND), OAND IR
ROR, ;30D ROTHES:
391 VBT Ro8e3NIIY, DY DI TOOLRT
eV3VRY, erod,RIB:
(1) A,B,Ca3D
2) B,C,D 3R E
3) B,Ca33 D
4) A, B,C.D33E
P.T.O.
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64 With reference 10O
settlement consider the

(he permanent
following

statements.

It secures a [ixed and stable income.

A.

B. It encourages agricultural enterprise
and prosperity.

C. It creates a class of loyal zamindars.

D. It reduces the expenditure on local
self government.

E. Most of landlords did not take any
interest in the improvement of the
land after settlement.

Choose the correct answer:

(1) A, B, C, D only

(2) A, B, C, E only

3) A, C,D,E only

(4) A, B, D, E only

509010 23eCTO E:’th&ﬁ R020DRE03 83 SN

2eO3RIR, RO

A, @td 33 DR AT 27300 eBD.

B. b & eud@d 3 RERoDIY,
22,89 .

C. o dmRo3 BNCTITTRY RYGAD.

D. b goeod Fobo BV RN
3B RPBD.

E. 83 3330h wada) elesndeid
230-GeBH 538 DRIV,

A0 GU3T DR

(1) A, B,C,D &»3

(2) A, B, C, E a3»3

3) A, C, D, E 3»3

(4) A,B,D, E 3»3

L-52-2 B

65

24

Jawaharlal Nehru remarked "a machine
with strong brake but no engine" in
context of which below given event?
(1) Act of 1909

(2) Act of 1919

(3) Act of 1935

(4) Cripps Mission

83 33N odpa FLISR RowoPRTI0Z
2IBBRO? IBD IR "B
20Z0O0IRT 235 @ddEE, ST Q0R°

BeB obog" Dow E3eBRBRH?

(1) 1909 3B B3
(2) 1919 3 5od
(3) 1935 B %W
(4) &, esoderr

As per the recommendation of the
Cabinet Mission plan which among the
following statement is not correct?

(1) Six Hindu majority provinces ViZ.
Madras, Bombay, Central Province,

United Province, Bihar and Orissa
would join group A

(2) Majority Muslim provinces in the
North West would join group B

(3) Bengal and Assam would form
group C

(4) Delhi, Ajmer, Marwara, Coorg

would join group D
53,2033° WRI® 0decw3od 38R BT B
59N 0Je Bewd XD @?
(1) B0 &odw m@ﬂmméa’ T0ZND -
DWOIRD, 200023, P, T3, RO
$9,08,, NVFT® DJ) wdFY - B A
o0& RERI:3.
SOOI, 19,0853 B3 WK®
m@ﬁna}aﬁéﬁﬁnd B oz, R3S,
omRE DR emo C rbodnR RIS,
BB, e, c0°, Jpvtemeg, dente D
roo&n B33,

(2)

3)
(4)

P.T.O.
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Canal/

waterbody

q. Panama
Canal

b. Strait of
Malacca

c. Yarlung
Zangbo

7 Consider the following pairs :

Connecting Regions

—  Pacific Ocean &
Atlantic Ocean
via Gatun Lake

—  South China Sea
& Bay of Bengal

— Brahmaputra &
Sutlej River

Which of the pairs are correctly matched?

(1) aandb only

(2) b and c only 4{)?%\
(3) aand c only (b@qb\‘
(4) a,bandc

85 3RS BeeBNIRY JONER:

Foens3 /BTN

a. DO
FOCVED

b. Doy,
23CTR0H

c. odeeneor®
dpeorty

BoBIERR B3

— Roe3x® I0ecR0T
2008 DT TONO
P €9eT0EIE° Folale

—  T3BE0 239 RN, DR
200m0% 3RS

- BRI DY

ReJees® 30

oins 2ol ROoIRN BROTIZ:N?

(1) a kb 393

(2) b D3 ¢ INF
(3) a DI ¢ I,
(4) a, bR c

L-52-2_B
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68 Arr

ange the following strategic
from west Lo east :

q. HormuZ Strait
b. Suez Canal

Philadelphi Corridor

C.

d. Pangsau Pass

Qelect the correct sequence :
(1) b, a,¢C d
(2) a, b, d, ¢
(3) b, ¢, d, a
(4) b,c,ad

sanSIRIRy, oPEB0S, YINP, FFT
2D 00T JERET 3B AR

a. BPEWE WOROY
b. ReohH® e
C. @@tﬁ% FOWO0®
d. Sonnp 3l Fene

200408 FRBY, SO

(1) b,a,c,d
(2) a b, d,c
3) b,c,d,a
(4) b,c,a, d

P.T.O.
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69 INS Surat, INS Nilgiri, and INS Vagsheer,
all commissioned in January 2025, are
built or designed at which of the
following?

a. Mazagon Dock Shipbuilders Ltd.

b.  Warship Design Bureau.

c. Garden Reach Shipbuilders.

d. Cochin Shipyard Ltd.

Select the correct sequence :

(1) aand b only

(2) b and c only

(3) a, b and ¢ only

(4) a, c and d only

33 3INIJINIY oI, 238D 2025 3O

A3 INS Rets?, INS Jeond )

INS S3r3¢0°, Q2033p, JB0ew G

DVRRRPRD?

a. DM @' BREN e DEIe
(Mazagon Dock Shipbuilders Ltd.)

b. olng AN IR e Bwe (Warship
Design Bureau)

C. TBER® dees® BBd ddween (Garden
Reach Shipbuilders)

d.  3033° BB ddweee OedEs (Cochin
Shipyard Ltd.)

2DodRTd V33 esdyy:

(1) a=3b 203

(2) bRdc =353

3) a, b DR ¢ 23,

(4) a, c D d 303,

L-52-2 B

71
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70 The world's largest hydropower dam,

under construction by China, is located
on :

(1)

Yellow River near Qinghai

(2) Mekong River near Yunnan

(3) Yarlung Zangbo in Medog region
of Tibet

(4) Yangtze River in Three Gorges
region

23¢9 AWEAWITE IWoRW 98 Wy w3
PE33Ey), D %a’a:mﬁtﬁ"?

(1) 3eon®s, wvob obhdn 3B

(2) oo wPod Dot I

(3) 32333 Dmoon® JWe3BAI oreene ond
[, Tpeony,

(4) "/ 3038 BBIBAS odoreEdest 3

Consider the following countries :

a. Jordan b. Saudi Arabia
c. Syria d. Lebanon
e. Egypt

Which of the above countries have
borders with Israel?

(1) a, band d only

(2) b, c, dand e only
(3) b,dande only

(4) a,c,dande only
B3 JodI miﬁ#;@l DDRIL,:
a.  Apedex® b.
C. 2adadn d.

S

2D eaBeDodn
QAN

DI ol TR D FTFedI0007 RARI),
BRODI?

(1) a, b3y d )
(2) b, c. d D) e mg
(3) b, d D) e R0l
(4)

a,c,d;iggj_nem%

P.T.O.
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72 With reference to the Reformist and

Revivalist movements in modern India
- L] 4
consider the following combination

13

Who held the opinion that "the extremists
of today will be moderates of tomorrow,
just as the moderates of today were

-----

A. Brahmo Samaj, Arya Samaj and
Deoband Movement

B. Prarthana Samaj, Arya Samaj and
Ramkrishna Mission

C. Brahmo Samaj, Prarthana Samaj
and Aligarh Movement

D. Arya Samaj, Ramkrishna Mission
and Deoband Movement

extremists of yesterday". =
(1) Mahatma Gandhi Y
(2) Lala Lajpat Rai e
(3) Bal Gangadhar Tilak e
(4) Motilal Nehru

=TolATS ﬁadjﬁm&:ﬁeﬁa oD 3¢D,
Tﬁ&bﬁ%ﬁﬂgﬂé’, 2003 afg TIND JoFod #

PORD’ - 8 ePEod oIRTR? -,
Select the correct combination of A,
movements in context of Reformist and L1} (i o -
Revivalist movements. (2) opee oI TOD? ping
(1) A and B only e\ (3) 2PIRoTWET e’ H
(2) A and D only N (4) BecdoRt IBD

........

(3) B and C only o I8 :
With reference to the administration

4 D , K
i L i only under the Sultans of Delhi, consider the ®

74

!
23DHRINRIN RowoRRBoW PN a. Wazir - Diwan-i-Wizarat Lﬂ
R003RCBINDI), NI, b. Ariz-i-Mamalik - Diwan-i-Arz *‘*

e Iy c. Dabir-i-Khas - Diwan-i-Insha b4

8 HEpreerGone TR e d. Sadr-i-Jahan - Diwan-i-Risalat
BDX? Which of the pairs given above is/are -
B. mo@cde Rx0ex, FOLE B 03 correctly matched? 5,
ToRdE R (1) a, b,cd (2) bandconly -
(3) aand donly (4) b,c, donly o
2 S.BEDTO BRI 03D el
C. w®, Banx, 2 N B2 DRIV 208 B3 BowodABoI 8!
9OFT0° BDRY at

83 393 RecRRIR), BORBY:
a. &23c0° -
b. ©0&F-2-0eDIE® - ‘
C. WIT-R-&%E - DOTE-R-RTD, £
d. xof-R-eBoo° - DPOI-Q-0HZE
et VeBTIR BpeBNIS ol Beed/
R2pednH RDoIN BeoddoIPrZR?

(1) a, b, cd (2) b D3I ¢ 39,
(3) adHdEwg (4) b,cd 303,

D. eode R0, ToRRE DRI &)
BSe32005) 23903%

BB DB DIJESI 23RPT} RooPATO3

200103 Roodeexs THTISA.

(1) A 3 B 393,

(2) A 33 D 393

(3) B 23 C &3

(4) C 3 D 93

DDODT- Q-0 3°
QedDT-Q-6983°

P.T.O.
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e e VT e

; ~ ider lowing statements :
- : q of the | 70  Considet the fol
75 Under Antyodaya Anna Yojana O Assertion (A) : Constitution is Aiferent
Government of India which onc 15 not o é
:*" included? Reason (R) : anstitutiﬂnaliSI-ﬂ c.[]nnDtES ;
r;} ‘ limited government, but Constitution may I
o0 (1) Poorest among BPL are identified. have words of dictatorship as law. >
o Choose the correct answer from the $
:5 (2) 25 kg of foodgrains are made options given below : :
Hl available to eligible families. (1) Assertion is true but Reason is false. Y
- (2) Both Assertion and Reason are true
| (3) Nutritional intake of poorest and Reason is the correct
h : :
59 families are estimated. explanation of Assertion.
0 (3) Both Assertion and Reason arc
) (4) Foodgrains are distributed at a | false.
o' T T (4)' Both Assertion and Reason are true,
_ A S but Reason is not the correct
ﬂi et i e explanation of Assertion.
Y S €3 e
$) HESE . ; 3RS BePIRIR), JORAY!
g SRR SN e s 4 BB (A) : RODPIID) RO, B DD,
) RT3R088,08 DFEONT.
=< ps 3 U3TVR, D,
' R SAIONG ADAN S0 L] 8]0 ([v}) : ROV, 3 DADS ?am%méaé; 2,03
bl RFETRIT), PRWTIBE, PRT TONFIIN)
- (1) D.&.oc. (BPL) SneBII 0BRCI), = ~
j,;?f FORADON ReIOE HFIVTH VBNV, BRONTOTTD.
=3 e 397 DeBHB ohrvon FBoIRT VTR,
a3
4 2D
i (2) 25 3.2 &@0 WIRIRY OBE
<3 (1) 3PS DoIPNT TS s3e0 ITNT.
AT,
N Bepownert OEerdRod SREeS (2) =3 D) IDFES TR FOOIWAS,
™ PR P 580y RAPES0d RDOIPT
Y B DEDOWNE & 2
. 5 BT e L . DSTBOIPAT
> SR, (3) RIPES ) 0w aBEe IS,
| (4) RDPeI D) 30 VR DI,
(4) o8 RN IB0IES TSI =
" B0 500 BRNFES0DH BD03RD
Arctersoniavicing NRTHBoDO.

L-52-2 B 28 P.T.O.
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77  Article 323A and Article 323B of Indian | /3 Which one of the following

ituti characteristics of a Federal Constitution=’
Constitution speak on - - >
is not essential? %

2.8

i.  Distribution of powers v

(1) Arbitral Tribunal and Mediation

ii.  Supremacy of the Constitution
centre

iii. Unwritten Constitution

' ——

" — 4
(2) Competition Appellant Tribunal iv.  Rigidity 3y
Select the correct answer using the cndes;_;z:_l:
(3) Inter State water dispute tribunal given below : ;
and Industrial tribunal (1) iand 1

(2) ii and iii NDPS\ -
EE\'{O £
(4) Centre and State Administrative (3) iii only ’34
1"'-;;1
Tribunal ' (4) 1iand iv e
230F RoIRA HOD B 39AS TOOOIRSD

,PB3c0dh RoDTORE PR 323A D3 PR BIRIBY?
ese3e30f 323B DD 3VHIW. . RT3 Howds o
1. ROVPOIR %ﬁ%@ 9.
(1) RBS 99,0000830 ) DTS 30T, iii. ©9DN3 B0 )

1Iv. 303
2 2900, 3D 9.0DDOBY -
(2) Rpeod sDee,De 9% 89N Rode3RIR), 2IRBROT ZOOIRE GVUIBHI,

(3) 9033 Togy WO DT 39,0D0RY DA . i X
(1) 133 n

o

0HRoBY
_haiode. (2) i 3y i

(3) iii 303
(4)  3eoR, ) Tony GBS VOB =

4) 1D 1v

L-52-2 B 29 P.T.O.
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79  Which one of the following cases is well

known as Mandal Commission Case?
(1) State of AP V. U.S.U. Balaram

- (2) Indira Sawhney V. Union of India

::;, (3) A.K. Gopalan Case

E; (4) Bank Nationalization Case

< 83 393 ool BFVeaRFYy DoBe waE®
23360300 3BoheRrHZL?

I

id (1) Feeo® &5° .8 I0G odw.ox.odw.

th 20T

o ~

b (D) obT i I a0y WRU3 wda

T

) (3) «.3 Reemeo® ST

e (4) 209,08° Tog c8Te0 FTED

fr-:{ T

3y

&0 -

(3 80 The 74th Amendment of the Constitution

r of India deals with -

'Eﬁji
(1) Centre State Relations

3 (2) Urban Local Government

” (3) Rural Development

8.8

Co (4) Welfare of Women

{7}

s 29030 ZoDPIB 74 e BRZB odeFuT wry
R3BORI?

&

o (1) 2eoq, &) vozgnRe Bowo

oY

L0 (2) SI1TB RYeod RozT

KR8 @

N B) ma

o o J fﬁ??ﬂ%%
(4) Bbwo oo

L-52-2 B
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Match List-I with List-II

List-I List-11

A. Article-235
B. Contingency Fund II. Article-114
III. Article-267

Control over States 1.

C. Control over
Subordinate Courts
D.

Choose the correct answer from the
options given below :

(1) A-IIL B-II, C-I, D-IV
(2) A-IV, B-III, C-1, D-II

(3) A-II, B-I, C-IV, D-III

(4) A-II, B-IV, C-II, D-I e
2e3-1 ), Je3-1I BRBEI BeoLAD!

23 -1
A. Tomne Ped I.

Appropriation Bills IV. Article-257

e3-11
t—.a?bagetﬁ-ZBS
Aleviler o
B. LRlalUoYe VIRAIA II. H&%ﬂﬂ-lm
C. ofed Syoinpowabns 111 i er-267
ed JodboIes
. B3 do3eR IV. wd:zéﬂﬁ-%?

AZeodH3

8978 eBDR erohRYoB RO VZBRI)Y,
D!
(1)
(2)
(3)
(4)

A-III, B-II, C-1, D-IV
A-1V, B-III, C-I, D-II
A-11, B-1, C-IV, D-III
A-II, B-1V, C-III, D-I

P.T.O.
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true regarding the National xuul;::'i

Assistance Programme (NSAP)?

a. The NSAP isa welfare programme
administered by the Ministry of
Rural Development.

b.  The NSAP is implemented only in
rural arcas of India.

c.  The NSAP is a welfare programme
that provides financial assistance to
the elderly, widows and persons
with disabilities.

d. The NSAP is implemented in both
rural and urban areas of India.

Choose the correct option below :

(1) a and b only

(2) a and d only

(3) b and c only

(4) a, c and d only

oGy cod ToRB IV FODE B3,

(NSAP) RBo20paR03 83 38N odesl

DEPIND AD0ITNI?

a. NSAP oin m9oese 90 Ruoods
980D FODE JBE BRIGTII 20003
Clopka 590PE BTDONT.

b. NSAP Iy 20030 779,e0¢e0 JTeBRLY
2003, .g_g,d}'nggﬁﬁja%ﬂaﬁtﬂ.

c. NSAP od» B03ecsy. DP30IHD T
Nedead3on BeowoRd STBY LENR
2.00) 5'3}3599 @Qﬂ)?é&ﬂ)ﬁlﬁﬁ.

d. NSAP oby, 279833 e B
IRT BReB3RITECAR
9T RRPRTNT.

33 33N 2DoIRE eroohR) SO

(1) a3 b 33,

(2) a D3 d 393

(3) b B3 c 39,

(4) a, c 3 d I9F,

L-52-2 B

Which of the lollowing, statements
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31

A study of the growth rate of India's
population is divided into four phases :

1891-1921 : Stagnant population

b, 1921-1951 : Rapid High Growth
c.  1951-1981 : Steady Growth

4 1981-2001 : High growth rate with
definite signs of slowing down

Select the correctly matched phase with
its corresponding years from the options

below :
(1)
(2)
(3) b and c only
(4) c¢ and d only

a and d only
a and b only

210030 mﬁﬁ‘:oaﬁéai) 23337y BWOW EﬂtﬁﬁCﬁJRﬂﬁﬂg{
JoCY), BOSNTS DONRBH IPBNT.

a. 1891-1921 : 33 w3Ros),
b. 19211951 : Bes3, eoppd 239a3e3ns

c. 1951-1981 : &3 (WBR[B BYR)
23936973

d. 1981-2001 : dgedndodd 3NT AdEFH
ROBCITIRONT éa%;ﬂ 038R BT,

B3 39N PobRYoT T3 Dol
SRERLR0DN BOOIRA BTN BoIBY,

LD

(1) a3 d 33
(2) a D3 b I3
(3) b DR ¢ I3
(4) c D d 393,
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Which of the following statements best

- describes the role of Foreign Direct
Investment (FDI) in developing
countries?

a. FDI flows represent long-term
investments made  abroad,
bringing capital, entrepreneurship,
technology, managerial know-how
and sometimes market access.

b. FDI is often viewed by developing
countries as a key catalyst for
economic development.

c. FDI mainly involves short-term
speculative investments and has
minimal impact on technology
transfer.

Select the correct option :

(1) Only a (2) Only b

(3) aand bonly (4) a, bandc

GDRY BROHIHE B3RSO d3ed 3T

2pas (FDI) w033y, 83 297 odna sedind

VIR RO,

a. FDI 303 auednd SnBdes
DETE R RPBINDIY, 20T,
VGBS, 303203, BB
3,03eN3 23 IR, IFa3. T
30 RO eTEE; CIA LI
33D,

b. e.-azi);iﬂ% BROWIBTR Be3NDH, HBOY)
RordEned FDI odbay e*PEB e;aa‘;);i'%aia
SR SrSPEdeN GPIDIS,

C. OBede 3B Ppd3odn, BRNTN )
- 5003 REIRTIQTOTVH PRI,
28RR0BTIT Hone S032R I
SreeSBobhd 3 eIV HO@IRD
ANovCIA

200ded erod,0bIy O

(1) a 3»3, 2) b 2w

3) axd b33 (4) a, bDc

L-52-2 B
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a.  Phillips Curve : It is a graphic curve
that advocates a relationship
between  inflation and
unemployment in an economy.

b. Stagflation : It is a situation in an
economy when inflation and
unemployment both are at higher
levels, contrary to conventional
belief.

c. Demand-Pull Inflation : It 1s an
excessive creation of money -
increasing money flow or money
supply in the economy.

d. Cost-Push Inflation : It is a creation
of extra purchasing power to the
consumer over the same level of
production (too much money
chasing too few goods).

Select the correctly matched above

definition from the options below :

(1) aand bonly (2) bandc only

(3) cand d only (4) a and d only

a. &9=° Bead @ A 2R3 JHZ0DOI
BREYT DR JCIVREND SBINI
FowoF R, D8 HB0INST Teawos3,3

Bea3oden.
b. Homd Zx3ee (Stagflation) : Beath2)d
LRIale) Neualolygiatielalo VI3

DNIITON To0B Wo0E SoINYN
é’btbrgmd e2REB ROWIE SN,

C. 23R8 A93T Tt T & BD BTV
203 ﬂu%gmﬁﬁg E&:Eﬁé’ﬂb@ BT
BOOINNE LIPS0 BT RT,60d
CADIAVALS

d. 3e3-39 30D BRWDWT | YUZVBIoD
L IFRe rat:ig TOHION 93
ﬂmm:bﬁra@g.,é}ﬁab 3% RVRYHTONTS
(0238 &) Beoxd oS DRI,
302 DDIJH).

83 89NI erodiPvord RedI ORAVORN AR

D01 BRoDXIJHTWY, esd:

(1) ad::é:_ﬂbdm% (2) b DD c I

(3) {:.;ha’jcldmg (4) a DD d 39,

P.T.O.
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86 Consider the follow

‘ ' : g statements
regarding  'Aspirationg] District
Programme' (ADP) :

a. A]?P launched in 2018 aims to
quickly and effectively transform

112 most under developed districts
across the country.

b. The broad contours of the
programme are Convergence
(Central & State Schemes),
Collaboration and Competition

among districts through monthly
delta ranking.

Which of the above statements are
correct?

(1) a only

(2) b only

(3) Both a and b

(4) Neither a nor b

BIY03, VR TodeFR" 3, (ADP)

ROWORABOZ B3 3INI BePINII), JONEd:

a. ADP odn 2018 39 @ 3oxiemendy,
Be3BIBoIHIDR 98¢ D) GHoTHPOTE
112 RSnIIYy 3eF oA Tonw
2DTITDOIION RIPTOE BRI THOODIY,
JRODT.

b. &3 2oDHeEFT B0 eVgie3ReI00T
zdainéa:ﬁfa@xhé)cb (Beor, DR Ty
oldeemIneh) RBLPNZ, TN RIRB B
og080m (delta ranking) gweed 29N
3 APE IBRDJHD.

33 DedI oI} Bewdnd FdDoIpNS?

(I) a R»3

(2) b 3»3

(3) a D3 b avEe

(4) a egm» b o83 ¥Y

ZeyoNDRSL

L-52-2 B

87 Consider the following statements

regarding the India Innovation Index and
the Global Innovation Index (GlI) :
a. The India Innovation Index Report

examines the innovation capabilities -

and performance of the states and
union territories in India.

b. In the 'Major States’ category,
Karnataka continued to occupy the top

position in India Innovation Index s

Report 2021, followed by Telangana
and Haryana.

c. Global Innovation Index (GII) was ~

first launched in 2010 to broaden the

view on innovation. Al
d. India has achieved a significant
milestone in the Global Innovation

Index (GII) 2024, securing the 3_9“‘ \
position among 133 global economies. ..

Choose the correct answer below :
(1) aand b only

(2) a, b and d only

(3) b, c and d only

(4) c and d only

2383 33 (Innovation) Bedod H3J -

2338 TS Reodd, (GII) JoewoprBo3

83 39NT BEPINTI), DR

a. T3 mc‘:}aiéé AR 03 [VHOI 29333
TogNY Tomse 5CORBYI BHEINT
TOITFTO RORDFENR DR
50DERIFIODIY B3I,

b. 3w ToRNY [VRERS, 33003 SEMBACE
anBod [Ijd 2021 09  FIIELIBD)
fﬂ?ﬁ_}'&gdde{? d)::c:tﬁ)dﬁ&)tﬁ{% 309 D)
DO B, RO,

c. @33 PAJ Aerdod (GII) Sy, 2010 =

B JAZ @D BRobR, RO ReFTON
TSN,
d. 229835) 133 230133 esBe3 a’%)aig"‘ﬂ#g} 39 3¢

IV, BBD, 27iB3 PR Reod !

(GII) 2024 39 BIW BRSL), TPRT.
83 89N RO0IRT eVITRY, erd:
(1) a3 b 3n3
(2) a, bR d 33
(3) b,cRd =093,
4) c D3 d 3n3

P.T.O.
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The key objective ol Swachh Bharat

88

Mission - Grameen (SBM) Phase 11 :

. Sustaining the ODIF status and
managing solid and liquid waste by
2029-30 and translforming all the
villages {rom ODI* to ODF Plus
Modecl.

b. Improve the level of cleanliness in
rural arcas through solid and liquid
waste management activities,
making villages ODI* Plus. This
includes, ODF Sustainability, Solid
Waste Management, Liquid Waste
Management and Visual
Cleanliness.

Which of the following option is/are

correct?

(1) a only

(2) b only

(3) Bothaandb

(4) Neitheranorb

R 2903 DRI® - TR,e0ee0 (SBM) &03 11 3

2,WOD t;'j’ﬁmﬁmtﬂeé

a. 2029-30 Tevn ODF "aﬁdoaaiaiaij
RYTREVDF SR alai D 3B

z:hﬁéo AIE BRI T TR DD
B9r93y ODF doid ODF 5° PDlafela
RIDDJOE BRIJT.

b. 39nexy ODF F=° =0wd SRR,
=3 (Solid) &3 ciai STy V€ B
SPEIRD ST TR, B EBNTY
R3dod e33R, DRI, ard ODF
RT3, P (Solid) =2 dBe®B, BS
39 VE B THOMR 23t B Bob
(Visual Cleanliness) 29re)3a.

g3 3N oI erod, ROOIPAT/E?

(1) a 3»g

(2) b 3»g

(3) a3 b o0Be

(4) a egse b oTds v

L-52-2 B
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Consider the following statements with
reference (o - 'Pradhan Mantri Surakshit
Matritva Abhiyan' :

a.  The Pradhan Mantri Surakshit
Matritva Abhiyan has been
launched by the Ministry of Social
Justice and Empowcrment,
Government of India.

b. The program aims to provide
assured, comprehensive and quality
antenatal care, free of cost,
universally to all pregnant women
on the 9th of every month.

Which of the statements given above is/

are correct?

(1) a only

(2) b only

(3) Bothaandb

(4) Neither a nor b

'R0, DTS IR, LRI 3,

BowoPey, 83 3INS BePIRIRY BOREd:

a. VPOR0Y, ?.bti%hé X033 STAleVICIN VA
Jo03 RFETT O30 0 203)
209edBe0 oZywod) eFCoDAT.

b. 33 »obedD) J3¢ 3onPI 9 Tord
DR RYEEd ?..:-\?Ojjf}ﬁ.fa IR, R,

R ﬂjmﬁj%c} ARDPRE TOOFODIY,
eV28 BB JRFE &R THOODY,
2LRODT.

83 DI 0IRR BePEND BDIPAT/

2D0oIPAS?

(1) a3n3

(2) b I3

(3) a Db o8@de

(4) a ogo b odde Y

P.T.O.
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90 Which of the following
Budget theme of 2[]'}4 25"

a.
b-
c.

d.

€.

arc the 'Union

Emplnyment

Innovation

MSMEs
Middle Class
Skilling

Choose the correct option :

(1)
(2)
3)
(4)

aabacﬂndd
b, c,d and e
ﬂ'ﬂc:dm]de

a, b, c,and e

33 39N3 odPIW 2024-25 B Beor, edFs
3R DBoDTONG?

c.

SUTIRCT

m&aiﬁé

Al pNDPS!

MSMEs
DG RNE

Saée% AR OTAL

AD0InRG erod,odhI) esOA!

(1)
(2)
3)

(4)
L-52-2 B

a, b, c 33 d
b,c,d DR e
a, c, d D €

a, b, c, DD €

35
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Consider the following statements about
Union Budget 2024-25 -

a. Productivity and Resilience in
Agriculture

l

i

i"[)

)
Inclusive Human Resource '
Development and Social Justice .

c. Defence and Military
Modernization

l
Innovation, Research & 3
Development

Which of the following are among the *
9 priority areas for creating ample '
opportunities for all as outlined in the
Budget 2024-25?

(1) a, b and d only
(2) b, c and d only
(3) c and d only

(4) a and c only 7}

-.__J

»
-
l

:-.-u lll-l- 'llllu

e

2024-25 T #eod, 202 HDI B3 3N
BePERII, BOREHY:

a. 3achd evEI3 Hne 5e3ds. L
b. »9ReR (Inclusive) Ro33 RoR
SDRD DL WRPRF 39,0
c. T3S D3 WD erhIeddm

d. I3, ROBRFI B E:ﬁ?ﬁ%%

83 3INIJNDY oloyY weles® 2024-25

8 )
B9 = AROTION AROARF0I RVONR DO (v
wsﬁm&ﬁ#a’% AROB 9 eBE Je3nvons? O

(1) a, b3 d 3wz -
(2) b, c P d 3Ny

3) ¢ d In3

(4)

e

.
I.l._'-'r—i I

a ) ¢ 303,

P.T.O.
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)

BE\’ oNDPS)

Which department publishes liconomic
Survey of Karnataka every year?

(1) Finance Dept.

(2) Chief” Minister's Olflice

(3) Planning & Statistical Dept.

(4) Revenue Dept.

3oreis PEd Redoby B3VIE od
QR TSI

(1) Deowrd awess
(2) R0, sodpewod
(3) odeexd D) Todd weeal

(4) 3Zoweod wews]

{93 What is the program implemented for the

‘_:33 purpose of promoting entrepreneurial
:"g excellence and innovation among the youths
= in India?
(1) Atma Nirbhar Abhiyan
o (2) Startup India
o (3) Skill India Mission
&0 (4) Digital India Mission
5
() 3030 odnBITY e Sdeozo [MeIX]
< o
BPID [F) JNeIZ0HI, V3 BT
c:} eUZIB00T 2RBRRYRORE B0bedR adwgh?
E (1) &3, AT esDadnx®
(0
ﬂ:; (2) =pEfreoxn® aododn
1 (3) 20" wodoin e
g
(4) &230° vobodn NRJ°
[-52-2 B

04

95

36

On which principle does pﬂnchuyi
institutions operate?

(1) Democracy (2) Dimmﬂl‘ship
(3) Monarchy (4) Cuntra]iymiu"
odns 33W eEeTn @Hed ﬁgmm}gﬂmw
?‘m@ﬁﬂa 590D ARE BRI ?

(1) IeeBed3d  (2) Rewedwg
(3) oomaabg  (4) BeoRyeds

I Rﬂj

Consider the following pairs:

Revolution Production

A. Green Revolution Food Productiop

B. White Revolution Milk Productjop

C. Yellow Revolution Fish Production

D. Blue Revolution Edible Oil
Production

How many pairs given above are
correctly matched:

(1) Only one pair

(2) Only two pairs
(3) Only three pairs
(4) All four i:-airs
39N ReBNIR), SO

59,03 UVepRALY

A. B33 508 Cs ol JVIVEDIARY
B. 3¢3 508 T GVIES

C. 390 5,03 e VIRV TI
D. J¢d 59,08 003, 3 VTR

“Ded3 Weaned o) sectrish FOOIN
BRcoDZ0TDAI?

(1) 2o Reed :.Saag
(2) 8@ Been =53,

() Red eoen 2wz
(4) DN WpedARY)

P Ti 0.
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96 The Vienna Convention (or the

, . protection | 99  Consider the following pairs :
of ‘the Ozone Layer' was adopted in
which of the [ollowing year? a. Gold - Metal
(1) 1944 (2) 1985 b.  Sulphur - Non-metal
(3) 1995 (4) 2005 c. Silicon - Metalloid -
= - - | ' l‘? %
boedees® ST BoB3BR Roronagoes Dobi, Which of the above is/are correc g}
WROWR, O3 SRR OIIBRARGTOANB? (1) aandbonly (2) c only o0
(1) 1944 (2) 1985 (3) bandconly (4) a, bandc f?}
3) 1995 (4) 2005 39N 2ReANTR), BROD: S
a. B3 - deex
97 Salts of sorbic acid and propionic acid b, R00° - @R -
are used as? : 2 zﬂ;
) )
(1) Antioxidants C.. RO5ea® - sbeIeRcnE® o
(2) Flavouring agents e oRH/RDH BO? ??3
(3) Food preservatives (1) a3 bIn3d (2) c =303 1
(4) Nutritional supplements (3) bbdcans (4) a b c w
RDEF €2 DR LR e2H0IRCE 2T PVBIY 3
100 Which one of the following is the context )
(1) evdReed dBREG3 in which the term 'qubit' is mentioned?
(2) Boed RoRoPEDd (1) Cloud Services i?
(3) @0 RoTFIRD (2) Quantum Computing
(3) Visible Light Communication
T -
(4) Fpcs FfEod Technologies o=
(4) Wireless Communication E{;
98  Which of the following is used in beauty Technologies o)
. " ‘:} ---I
parlours for hair setting: & 3R ot RomdETd B ow B o
(1) Chlorine (2) Sulphur IFRTVB? <
3) Phosphorus (4) Silicon -
(3) Phosphorus | (1) P 22ex® 7Y i
2R3 TIOETEIQ AT 20383 (setting) o)
& 39A3 aIPIBI), WIRDED? (2) Boe3® FoRDREIOTEIY f:g
(B) RecdRR 23983 BoRBI 303 INID (V)
(1) ggeoae  (2) oW LR
(3) Bozd (4) 9,700 ° (4) 30303 AONDD 36%&%5?‘{@@2

L5222 B 37 P.T.O.
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